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I Analysis of s mwn: if there was no n%’nna ny’1, but he found out afterwards regular (yo1) 1YW and 5”7V are 1901
a  Asper:v.1juxtposes ("D"11920 NRYN”) D91 NYYIN PPV to PINI NVYIN VYV
b Just as: the inner one is ("Y1N) 9991 for some awareness (12NN NY1) of PVVTPI VTPN NRNIV
¢ So too: the yina nwyan MYV is 1991 for some awareness (9101 NPT’ N2 V2 YR NY'NNA YT N1 PR)
i Question: since they are compared, why can’t ’n219 9»W cover both (in case outer one wasn’t done)
1 Answer: v. 2 limits "% 7°»wn n793 to one element (NNX)
ii  Question: why can’t outer one be 7931 for both — (in case there was nrmv after '’ 1YW was done)?
1 Answer: v. 2 limits 7290 N85 to one time (when 174 is done)
d  Question: according to YRynw’ 7, who holds that n>nna Ny na pris also »ya 170 (=2 M9 VYV is "n»n”), what is
the n193 of the ?7pINa nwyan PyYw
i Answer: as per n"'s opinion (T:R), for 101 891 1% NN RY Ny N PR
i Question: if so, why is the n¥n compared to 'nna?
1 Answer: to teach that it isn’t 9801 for any other sins (only YW1 V1PN NRMY)
I Analysis of first opinion ("7 ’7) in "7 MWN: NN D937 YWY are 1931 for 9102 XM NHNNI XY 1Y N2 PR
a  Source SKpw): v. 3 (N™ PYW) is 'n% nrRon > a sin of which only 'n is aware
i Plus: nv77 of 9 (to “atone for '7’s sin of diminishing moon) - per 'n% instead of 'n nxon
b Challenge: let the n™ 9»v atone for other sins as well?
i Answer (»9271): since both n™ 9»w and 5”7V YW come at a set time (not just as the occasion warrants)
1 Just as: 3"ny YW is 7991 for WTPN NRMIY, SO too N™ YV
ii  Question: how does nmn> "1 know to extend this to 0’930 »PYW (not just n")?
1 Suggestion: per »127n above (M1p n1)
(a) Challenge: n™ is more frequent (171n) than 0’>x37; 5”11 has more 193 than 0o
(b) Block: we infer n" from 5”nv and don’t challenge in this manner
(i) Answer: in that case (n™), there is an explicit mention of 1793 ('n% NRYN), missing in WYIIN *PYV
2 Answer: extra v - Py (written in all 09370 *PYW) appends them to n™ vyw
3 Therefore: m9»1n 1YY, just like N1 YW, are 1931 only for 902 X% "YNNa 8Y MY N2 PR (“only 'n knows”)
¢ Question: does N 1 mean by 9102 ny>*p na PR that it could never be known,
i But: if it were a nkm that would eventually be known, n”n o937 »»w aren’t 9931?
1 In which case: 3"nm yina nwyan 1w would be 79517?
ii  Or:does he extend it to any case where “only 'n knows” - even if only for the moment?
iii  Answer: from Rn»a:
1 nmm " explicitly applies n” 0937 »1»W n1as to a case where there was no n%nna My and no 901 Ny
— even if it will eventually be discovered.
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